CuHTe3 okcmaa xpoma (1)

PaboTy BbINO/IHWUA
YyeHuK 11n Knacca
CYHU MTIY

Lnranos NnbAa



Llenn paboTbl

Monyuntb okema xpoma(ll)




YCTaHOBKA

[ThocKoaoHHas Konba ¢ KnanaHom byH3eHa




[lepBaA cTaaunA
2CrClz + 2HCI + 2Zn = 2CrCl; + 2ZnCly + Ho




BTopasda, TpeTbAa CTaanu
CrCl, + ZnCl, + 4CH;COONa - 4NaCl + (CHsCO0),Cr+, + (CH;CO0),Zn

(CH3COO),Cr + 2KOH = CrO + H,0 + 2CH3;COOK

AueTaT Xxpoma
http://internat.msu.ru/wp-content/uploads/CrOAc2.gif

OKcma xpoma



[lpoBepKa

2CrO + HNOs; - Cr,O3 + H,O + ZNOZ/I\




NToru

BEbin nonyyeH okena xpoma(ll)
¢ Bbixoaom 14%



